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Q1. lfx=14 3 11 then, the value of 2x +£
Tt

1+——
1
1+5

(1) 3
(2) 4
(3) 5
(4) 6
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Q2. Simplify : = - 2+3+l
1

1+Z

(1) 10
(2) 19/43
(3) 43/19
(4) 38/43
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. e : i |
Q3-S|mpllfy . 1 | 1+2 23
3

1+§

(1) 1 (1117
(2) 1(5/7)
(3) 1(6/17)
(4) 1(21/17)



SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q4.Simplify : 87 — (37 + {15 —2(15 -3 -2}

2

(1) 4 (1/2)
(2) 4 (1/6)
(3) 9 (1/2)
(4) 2/9
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Q5. —|c+ {5+

=52

(1)0
(2) 1
(3) 9/20
(4) 10/9
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1) (1 % orl %) is equal to-

(1)9

(2) 11 (1/2)
(3) 13

(4) 15 (1/2)
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0.1x0.1xX0.1+0.2x0.2x0.2+0.3%X0.3%X0.3—3x0.1%x0.2%0.3
0.1x0.1+0.2x0.2+0.3x0.3-0.1x0.2—-0.2X0.3-0.3%xX0.1

Q8.
Is -

(1) 0.006
(2) 0.6
(3) 0

(4) 0.2
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QO9.If * represent a number , then the value of * in

5§x3%=19

IS.
7% * Rt e w1 wRRRE FA §, AH5-%x3- =

19
* T HIA

(1) 7
(2) 4
(3)6
(4) 2
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Q10.The value of

\

5+

11 +\/19+\/29+\/49 is

(1) 3
(2) 9
(3)7
(4) S




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q11.Find the value of J248 + \/52 + /144

(1) -16
(2) + 16
(3) 16

(4) 16.2




Q1l2.
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8 +

57 +

38 + /108 + V169 =?

(1) 4
(2) 6
(3) 8
(4) 10
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Q13. (12, 12V12V12......... o0
\
(1) 3
(2) 4
(3) 12

(4) NOT
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Ql4. [12 + [12 + V12 +VI2 +......... o0

N \

(1) 3

(2) 4

(3) 12
(4) NOT
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QIS.V

(1) -2
(2) 3
(3)6
(4) -6
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(1) 10
(2) 11
(3) -11
(4) NOT
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Q117.,

5+\/5+\/5+ ..... 00

1++/20
(1) =

(2)_1+\/_

(3) 1
(4) NOT
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Q18.)7 — 7 =T-....

(1) -
1+\/7

(2)
1+F

(3) 7
_(4)NOT
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QIQ'V

5.4/5.v5

(1) 5817
(2) 57/8
(3) 557
(4) NOT
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Q20.The largest number among V2, v/3, V4

(1) V2
(2) V3
(3) V4
(4) All are equal
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Q21.FIND THE SMALLESTONE/§3:/12

(1) V12
(2) V4
(3) V3
(4) V5
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Q22 .The value of - - | 1

' \/§+\/_ \/_+\/_ """ ' \V/100+/99
(1) 1
(2)9
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Q23.Find the value of following

\/5+2\/3

(1) (V3 ++2)
(2) (V3 -v2)
(3) (V5 —V3)
(4) NOT
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Qz4.(zcc_:)(cwb) y (ﬁ)(b+0) ’ (x_c)(c+a)

x¢ xa

(1) 1
(2) 0
(3) 2
(4) NOT
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QZS.(Z . %) (2 o g) (2 = ;)(2 = %) equals.

A.5/999
B.5/3
C.1001/999
D.1001/3




